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82| 402|@A EiE (12 AN 12.94 (+4.0) 20| 6
84 204[11E  KF5 (J3) STRIK R 12.95 (+3.6) 5 1
85] 209[E&/II & (D SRR 12.96 (+2.2) 5 1
85 394/ ik BiiE (J3) LtEEH 12.96 (+3.0) 24 7
85] 53177  REEM (U2 Y 12.96 (+2.3) 22| 8
88| 3507k 58 (J2) THREE 12.97 (+3.5) 3 1
89| 215k ZZE (JJ) SRR 13.00 (+3.1) 10 [ 1
89| 276|BEE5AE (J3) PGIEE: 13.00 (+1.8) 17| 4
91 210[ER & (J2) SRR 13.03 (+1.8) 17 5
92 108[FZF 1o (J3) FrE=h 13.11 +3.5) 3] 2
93| 346|FHE ZF (J3) FTRES 13.16 (+3.6) 15[ 2
94 52[KE #HF— ) EEREL 1317 3.1 6] 3
U AN[FH_ REJ2) FrEp 13.17 (+1.8) 7] 6
94 17h|EE BR D RWIEE 13.17 (+1.8) 171 7
97 339|578 B\ (D) FTRES 13.18 (+2.2) 14 1
97| 337|BEAXR fHE (J3) THEE 13.18 (+3.7) 6| 4
9 177|5FB = (12 ST RIEF 13.21 (+3.5) 3] 3
100]  652|fR e (D) RIEE: 13.27 (+3.9) T 1
101] 361[fH BEXBAWUD |Tmes 13.32 (+3.7) 6] 5
102]  340[ F3# EX (J3) THREE 13.34 (+3.7) 6] 6
103]  570[siu #EFMUD Ryukokul 13.37 (+3.9) 18] 6
104 360[m® EA D FREs 13.40 (+3.6) 5] 3
105] 581[&E 1EX (J3) THHE 13.41 (+3.5) 3] 4
106] 403[mEA  Z=A (J2) EANCE: 13.42 (+3.9) 18] 7
106] 101[#1l0 B2A (3 |FTmeh 13.42 (+4.2) 21| 7
108]  GI5[E# &BE e 13.43 (+2.3) 25| 8
109]  341|%E K (J3) FTRES 13.45 (+1.1) 6 2
110]  468[#H mzEW2) [FETF 13.46 (+3.6) 5] 4
110[  599[#5 K HEAR D) BES 13.46 (+3.7) 6] 7
112]  409[ILF 538 (J3) 5T 13.48 (+2.2) 141 2
13| 213[B& Th&m (J2) SRR 13.49 (+3.1) 11
14| 532|588 M= (J2) VR 13.50 (+1.8) 7] 8
115] 614[F&X HEUD B /3RS 13.51 (+3.1) 1] 2
116] 470[PE X (J2) FrEp 13.55 (+2.2) 14 3
116] 298| FH RN EMTIA 13.55 (+3.5) 135
116]  336[FaA iz (J3) THEE 13.55 (+3.6) 5[5
119]  665|AE &I (D) SRR 13.56 (+3.9) T 2
120]  604|#%E @aE (J3) FmbEH 13.58 (+3.6) 5] 6
121 426|B" ZEAW2) Al 13.59 (+2.2) 4] 4
122 421[E =& 2 ARl 13.60 (+2.2) 145
123]  639[fREF Eigk (J2) e 13.62 (+3.1) 0] 2
124]  352[E#H DI J2) THEE 13.63 (+2.8) 9 1
125 176[Hx RE (J2) ST RIEF 13.64 (+2.5) 12 1
126]  398|KF K (J2) AL | 13.68 (+3.6) 151 7
127] 364[#8MH AERH (J2) FTREE 13.75 (+2.2) 1416
128]  651|fERA:ER (J3) PIEE: 13.77 (+3.5) 136
129] 472%™ &5 (J2) FrEE 13.79 (+3.1) 1] 3
130 617[EE =W B/ IRRS( 13.80 (+2.5) 12 2
130]  208[fn@E A (J2) SRR 13.80 (+2.5) 12 3
132 622[/NEF EAE (J1) SJAC 13.88 (+2.5) 12 4
132] 458|AR =88 (J1) FrEp 13.88 (+2.2) 41 7
134 640[J1IFF &HE D) EEEA 13.92 (+3.4) 3] 1
134 115|258 EZ= (D) FEEH 13.92 (+3.5) 3] 7
136] 6451k =E (J1) EEEA 13.95 (+4.6) 411
137]  205(8&8& Z#1(J3) SRR 13.96 (+3.1) ml 4
138]  408| K& IRZ (J3) e 13.97 (+3.1) 1[5
139]  126[ K% BB W) FmE=h 14.03 (+3.9) 18] 8
140  659|F#E K# 1) RPN 14.06 (+3.2) 2| 1
140 65/[R1F H2 WD) PGIENG| 14.06 (+4.6) i 2
140 585[@M 3£ (J2) THhDHE 14.06 (+3.1) G
143|646 K3k &F D) EEEA 14.11 (+2.2) 5] 2
143] 358[;TO0 EX (1D FREs 1411 (+2.8) 9 2
145] 590/ T WD) FREE 14.15 (+3.7) 16| 8
146] 365\ EAE FEWD |[THREE 14.26 (+2.8) 9 3
47 121[1hHF FRIAUD  |[Fmeh 1429 +2.48) 8] 1
147 483[F8K e (J3) ELEEA 14.29 (+2.5) 125
49| 357N ER B D FTREE 1432 (+3.1) o[ 3
150 661[#F 2 i F (JD) SRR 14.35 (+3.2) 2| 2
151 654|FRE Ak (J1) arrell 14.46 (+4.6) 413
152] 464[EF =& D) Frmp 14.53 (+2.8) 9 4
153 424[/bE B (J2) ARl 14.54 +3.1) 0] 4
154 122[E & B D FReh 14.65 (+3.1) 0[5




155]  460[H E #HE D) FEP | 14.70 (+3.1) 71 1
105 533[#A& EEA (D) ETIEE 1470 +2.8 8| 2
157] 537|ZEE X&) Y 14.76 (+2.4) 8 3




BF

1T00m

JERL] No. KE & EE A MER & (R) EE | # Bk
158 663[@HE 3hE W) STRIRR 14.77 (+3.9) 1] 3
159 b534[MM EABRWJD) |LAlFEY 14.85 (+2.8) 9 5
160|653 EEE (J1) REE;| 14.86 (+2.2) 5| 3
161 593[BH =B WD TREE 14.92 (+3.4) 3| 2
161 589[K&E B WD FREE 14.92 (+3.2) 27 3
163 124[#A1l0 EEEBRUD  |[THah 14.95 (+2.8) 9 6
64| 504[ERE A WD FREE 14.99 (+3.1) | 7
165 463[#aH EZIEWD _ [FTEmT 15.05 (+3.1) 0] 6
166] 1211Il0 BEX (12 FEaH 15.06 (+3.1) 7| 2
167 G84[EE sk (D) THhHE 15.07 (+1.1) 6| 3
168] 664 @& &= (D) RPN 15.13 (+3.4) 3| 3
169] 35515k Bl- (J2) TREE 15.24 (+3.1) 71 3
70| 211[Ih% 3’2 (02 L RIRR 15.26 (+2.8) 9| 7
171]  525(FIa8 %R WD) EEEH 15.55 (+3.1) 7| 4
72| 128|/M%F &AW Fmen 15.68 (+3.1) 71 5
173 1231k &kt 1) FEaH 15.72 (+3.1) 71 6
74| 662[FIE8 Fpa W) TLRIRR 15.84 (+4.6) 7| 4
75|  648[8K #utk (1) ETEEA 15.99 (+3.4) 3| 4
176] 615| E8% AW B/ ERS( 16.00 (+3.4) 3| 5
77| 5967 B Wi) THmEE 16.09 (+3.9) T 4
78] 118|E & #ek (WD) FHah 16.12 (+3.1) 0| 7
179 642[%&E FAWD EEEA 16.36 (+3.4) 3| 6
180 647[8BAk = (D) TEEA 16.44 (+2.2) 5| 4
81| 636| EE @ (J2) &5 16.62 (+1.1) 6| 4
182] 508|FE AE WD BET 16.66 (+3.9) T 5
183 641[#L BER D ETEEA 17.04 (+3.4) 3| 7
184] 595|857 BLRE (1) TREE 17.09 (+3.9) T 6
185] 601[AK AB WD BET | 17.13 (+3.2) 2| 4
186] 660|Z M Bhi 1) PPN | 17.30 (+2.2) 5| 5
187 643[F L #haEs W) TEEA 17.50 (+3.2) 2| 5
188]  658[f77 BEE D _ [(IAIKHF 17.74 (+4.6) R
189 600[BE L =t (1) BET 18.11 (+4.6) | 6
190 284[F BEA- (J2) PGS 18.93 (+1.1) 6| 5
91| 592[B% @ W) THEE 19.16 (+4.6) I 7

536|F A 1% (J1) EHEE +3.1)|DQ 7

583[@HE & (J2) THHE (+3.5)[DQ 13

587 AH FeH WD ThbHHE (+3.9) T

535[IE_ AR | ZRIFE (+3. 2)[DNS 2

655| Gk B (J1) AL (+3.2) 2

212[kE  K#(JD) PPN (2. 2)[DNS 5

644|1EE Sk (J1) TEEA 2.2 5

586|1BA  $1(J2) ThHhH (+1. 1)|DNS 6

6561k R A FEA (J2) |;IRIKNE [GHD) 6

465RE g2 (D) FmE (+2. 4)[DNS 3

280[[(RtEE (J2) PG EE: (+2. 4)|DNS 3

285 BIEZE (J2) PEE: (+2. 4)[DNS 3

59| FE BEJD FmF 2.4 3

650 (ZH MWABUD [TmT (+2. 5)[DNS 12

S501|ER EAWUD TREE (+2.5) 2

562[/MNEF_&F D) F=H 2.2) 14

200154 WJ3) FEEEA (+3.6) 5

T73|8E K (J3) RIEL +1.4) 19

283 A £ Ef (J2) R EE: (+4. 0)|DNS 20

354 B A— (D) TR +4.0) 20

400[cR )11 FBmM (J2) EA =L | (+4.2) 21

116[/h#k EX(J2) Fx=h (+3. 5)|DNS 23

367|%EH BA WD TREE (+3.5)[DNS 23

2255 H_BEJ3) BET (+3.5)[DNS 23

224 /VFE R E (J3) BET (+3.5) 23

282 [ EH EAER (J2) PEE: (+3.0) 24

54 [8#H BE (J3) ENIEEYE| (3. 1) 27

303l &5 (J3) BMTIA] (+3.5) 28




BF

[REB [FA18H  [14:15]
200m
R
[ 148] &ELE +3.7 [ 2481 EE +5.6
J&] -y No. K & mE#A Rk 1ES | [IE] -] No. K 4 rE4A R /HE
1 2| 296|{E4< K B&k(J1)EMMTIACA 2448 1 3| 304|=RE=E  FHA (J3)ENTHACA 22.90
5 b = N
2 7| 295|FH HEHE 1) |[EMTIACA 26.14 2 1 19))Il L &# J3) |iILAIXKES 24. 1M
EDZ MR VLS Ah3 19%
3 4] 599[#5K HEKWJN) |[EESD 28.35 3 8| 297|/MiB EARWJT) [EMTHIACA 26. 67
AR E T4 Y'Y Yans
4] 3] 53%|Fm ®WUD |ZRELFEH 33.14 41 4] 488tk B2 [kEEXRET 29.27
FIZY #h9 29t
5 5| 598 {REk AHEEWN) |[EEH 37.59 5 2] 464/ LB REJI) |[FEF 30. 86
1y 91/ 19A%
6 8| 601jBAK AU |[BES 38.87 5| 367|%MH #EXJ2) |FTHRESZS
Y% Yt YN g ans o DNS
7 6| 600[Ea L s==tHJ1) |[EES 39. 81 6| 303kl EH(J3) [BENTHIACA
vy aged XY Nt
[ 348] &LE +3.7 [ 448] RELE +2.2
JE] V-v] No. K 4 mE4A M/ HE | [IE VY] No. K 4 B4 R tRE
1 2 209 RAN FEWU2) |IRIKERSH 26. 80 1 4 2102R @B J2) |IRIKFHF 27.00
N WREY A3 194
2 8| 174/1EE BZEJ3) |SIRIEHES 27.14 2 6| 175|HLE #&(J2) [[LHIFRE 27.93
#hY ALF §h° 3 IRk
3 7] 365|RAE EEWU) [FREED 30.14 3 2| 364|#BHE MR U2 |THREEYG 28.53
AT Y3977 s I9%
4 3| 40|k B (J2) |BIRTENIS 31.60 4 5| 403|@A EA L) |[ALEBEREHG 28.68
AR Fp4b IV EN Y
5 6| 127/h % ZF=RA ) |[FREES 33. 41 5 8| 398|KRF KHW2) |dLEBZEIERF 29.62
ARV O
6 5| 128|/NFF #ER W) |FREES 33.63 3| 531|MfE BEM (J2) |LRIFL Al
1/ 9% gt Uhb DNS
4] 459|FFE REEUD |[FTES 71 108|FZE ME 3 [FREES
N 4pvH TY¥ 7 Yast
[ 58] HEE +0.9 [ 640] HEE +1.9
JE] v-v] No. E 4 mEA B % | [JE| LY ]| No. E 4 R4 iR lEE
1 6] 402K EZEiEW2) |[LHLBEEIH 26. 69 1 5 302|@)Il =% (J2) [ENMTHIACA 25.63
7V &b THE WPV
2 7\ 400|ch)1l FB@ (J2) |dEIEEEERSF 27.08 2 8| 38| £ (J2) FREED 25.70
Thi' 7 Eth VIR,
3 2| BIEKRK HEHEWU) |[FEREES 27.69 3 6/ 300/fF@E f&£E(J2) |[ENMTIACA 25.74
s 2w VYK
4 8 3M0|LH BEXWU3) |FHEES 28.18 4 4 172|RN E—J3) |IRIER G 26.05
h34 YR M7 YaodF
5 b 426/ ER EKXU2) |BAFTENF 29.03 5 3| 467EAE D2 [FES 26.18
A 739394 9329 893
3| B9[EX EEW3) |[HAIAEZAH 6 2| 126| KA HmEAW) |FR=EET 30. 49
FVEN 497 DNS Tth7  Yaghk
4] 286|HEMZk5T (J2) RS 1 116[/h#k EXJ2) [FEEES
Fr434% DNS wyy ans DNS
[ 748] &EE +3.0 [ 8#48] &ELE +0.2
JE] L-Y] No. K & B4 B&EE | [IE] V-] No. K % B4 ER/EE
1 1 109)/h % KRH (J3) |[FHREES 24.29 1 6| 425|XB W®EJ2) |[BFE)ls 23.19
1/ a9h° 133
2 4] 228|)\ER E:i} (W) EES 24.35 2 4] 305[iFE EEA (J3) [ENTIACA 23. 41
YIH'y bk 75N 7Y%
3 3 217k KE U |7 {VBITEE) 24.76 3 1 216|ElR ®F 7 YR IR 23. 64
hby 44n A8 97 Y39
4 8| 47T1/X&x #HA WS |[FEH 25.24 4 5 510/&1L @K EAR 23.92
5= hv% AT Y98
5 2| 226|FL =Rt J3) |EES 25.43 5 8| 307|FEF Bl (J3) EMTIACA 24.17
e Y3h B F 794
5| 419[F/K  HIWJ3) |‘BIFENIH 6 2| 306|#E KD (J3) [EMTHACA 24.52
VRV SVEV] DNS Y97 953
6 106 £ R #&E U3 |[FREES 3| b516|[F = EAR
YF: At Ny 3/h DNS




BF
200m

B4 LL—R

JERL] No. K R & Am% & () & [ # (IR
1] 304[ZFEZE BAWU3)  [EMTIN 22.90 (+5.6) 2] 1
2| 48|XE HEE U2 aREl 23.19 (+0.2) 8 1
3| 305 EFE J3) BMTIA 23.41 (+0.2) 8| 2
4 216|ElR #&ETE 5 YA 2364 (+0.2) 8| 3
HEENETTEE RS EAR 23.92 (+0.2) 8| 4
6] 307[FE JBl (J3) ENTHA( 24.17 (+0.2) 8| 5
7 109/NFF  &HE (J3) FEx=h0 24.29 (+3.0) 71 1
8] 228[\EE EI (3 [EEF 24.35 (+3.0) 71 2
9 296|fE& AR FmiF (J1)  [EMTIAC 24.48 (+3.7) T 1
10[ 306[#E ES= (J3) BMTIA 24.52 (+0.2) 8| 6
11 199JITE &R (J3) TR 24.71 (+5.6) 2| 2
12 217|mngE  KE J3) 9 (YR 24.76 (+3.0) 71 3
13 477 X& #tB (J3) Fmh 25. 24 (+3.0) 7 4
14 226]ML =t (J3) BEF 25.43 (+3.0) 7] 5
15 302|&NI =% (J2) BMTIA 25.63 (+1.9) 6| 1
16| 348[Ti& = (J2) FREE 25.70 (+1.9) 6| 2
17 300|F@E #&E (J2) BMTIA 25. 74 (+1.9) 6 3
18] 172|FNI &E—(J3) RIESTE 26.05 (+1.9) 6 4
19 2%5|&F@E B/EUD BMTIA 26.14 (+3.7) T 2
20] 467[@mA i (J2) FxF 26.18 (+1.9) 6] 5
21| 297[/hiE EA D BMTIA 26.67 (+5.6) 2 3
22] A02|FEAXR EHEJ2) TEER 26.69 (+0.9) 5] 1
23] 209|EAN EJD) RPN 26.80 (+3.7) 3] 1
24] 210[BR & (J2) RPN 27.00 (+2.2) 511
25| 400[JI_Bm (J2) tEEH 27.08 (+0.9) 5 2
26 1iAlEEE BE () REE 27.14 +3.7) 3| 2
27| 337[EX HEUI) FREE 27.69 (+0.9) 5[ 3
28] 175|AE #%=K (J2) RIS 27.93 (+2.2) 51 2
29|  340[ EH EX(J3) FREE 28.18 (+0.9) 5 4
30] 59988 K EX WD) BEF | 28.35 (+3.7) 11 3
31| 364|#EM EERI(J2) FREE 28.53 (+2.2) 513
32| A03|EEXR EA(J2) ENCE: 28.68 (+2.2) 41 4
33 M26[EBR EA W) ARl 29.03 (+0.9) 5[] 5
34| 488k S1B U2 EEER 29.27 (+5.6) 2| 4
35| 398|KF KE U2 TEER 29.62 (+2.2) 415
36]  365|EAE IETE WD) FREE 30.14 (+3.7) 3| 3
37 126| K& HmE WD FH=h 30.49 (+1.9) 6] 6
38|  464| EF E# D) FF 30. 86 (+5. 6) 2] 5
39 420[BX BIF U2 AREl 31.60 (+3.7) 3| 4
40] 536[Fm &N EEE 33.14 (+3. 1) T 4
A 1210 F FBF D FH=h 33.41 (+3.7) 3] 5
42| 128D By BER WD Fx=h 33.63 (+3. 1) 3] 6
43|  598|FEE  AHEEQD) BET 37.59 (+3.7) 1[5
4] 601[Bx ABUD BEF 38.87 (+3.1) 1] 6
45]  600[E L =D BETD 39.81 (+3.7) T 7

367[%EME FEA U2 FREE (+5. 6)|DNS 2

303l EE® (J3) BMTIA (+5.6) 2

9[FE BEEUD FF (+3.7) 3

b3 |MTE  BEM (J2) ELEE (+2. 2)|DNS 4

108[FE &M (J3) Fx= o (+2.2) 4

b29[FEAX [EF (J3) ELEE (+0. 9)|DNS 5

286 #%& M 2k 51T (J2) RILE: (+0. 9)|DNS 5

116/ Fk KR (J2) Fx=h (+1.9)|DNS 6

419[:5K #1(J3) BRE) (+3. 0)|DNS 7

106|T R #&E (U3) Fx=h (+3.0) 7

HEEEES AR (+0.2)|DNS 8




BF EX [FA18E _ [12:05]

400m

R

[ 148] [ 248]

J§[ -y No. K £ mES sk /EE | [JE] -V ] No. K 4 R4 BR/EE

1 70 1M |sEE =4 U3 [IHEHiRS 57. 86 1 5] 32|k K3 |[FREES 57.00
Th=y 39xh ¥ Eh 144

2] 6] 523|%&E ZFLWU2) [EEELIT 1:03.97 2| 4] 275|E&EH I+ (J3) R 57.60
M YAy 7Y #7454

3| 3] 3635%F MAW2) |[FHREES 1:06. 14 3] 3] 563| K #L(J2) |FAC 59.02
W/ vavs T

4] 5] MTliEAR REU2FREES 1:06. 67 41 7 14lEEm EEF US| FREES 1:01.75
Y 79N Wb

5 4] 118|FF #HE W) |[FHREE® 1:21.00 50 2] 475{IO0 EEHWR) |FES 1:01.95
A3 2y I F bEY

6| 331|EHE FEU) |[THREEF
173 yhy

[ 3%R]

JE[ -y No. K £& B4 BEEE

1 5 257[#@hl R (C3) FLIRFERK 52.48
wYh7 Y3am

20 7| 305)EZ EEAH (3) [EMTIACA 54.50
D3N TYE

3 4] 511K EX EAR 55. 91
thek Y9

41 3] 347|EH #ENJS) |[FREZT 57.217
R vl

5/ 2] 330|FR W) |FREET 58.96
g 4h3

6| 227|&#E EHWJI) |[EES

A5 3 DNS




BF

400m

B4 LL—R
JERL] No. K & BRE T i3 R HE | 8 [k
1] 2571811 E® (C3) AL R R 52. 48 3 1
2| 305)&d@ E& (J3) BMTIA 5450 3| 2
3| 5IIRA EX BN 55. 91 3| 3
4] 32|k A K (J3) THREE 57.00 2| 1
5| 347EH #E\(I) FTREE 57.21 3| 4
6] 275|B&:EIR 3 (J3) PEEE: 57.60 21 2
[ 171[dE ZAH U3 RIESTE 57.86 T 1
8] 330[ZRE I W3I) THREE 58.96 3| 5
9] 563Kl *L(J2) FAC 59.02 2 3
10] 1148 E=E:3J3) |FTm=EAR 1:01. 75 2 4
11| 475;TA % & (J3) FEF 1:01.95 21 5
12]  523[%%& FL 2 EEREL 1:03.97 1] 2
13 363[5%% A (2 FTREE 1:06. 14 1] 3
14] 111[#E4X _BEU2) |TmEHA 1:06. 67 T 4
15 118[F& #&E U2 FE=H 1:21.00 1] 5
YIEA=ES ZI0R) HEH DNS 3
331[EHE FiE J3) FTREE 2




BF

[(REE [FE188  [15:15 |
800m
R
[ 148] [ 2481
J&] -y No. K & mE4A Rk 1ES | [IE] -] No. % rE4 R /HE
1 5| 616;FH T/ 1) [;B/ImRSC 2:25.03 1 4 46mE Z(J3) ||EAE)H 2:25.52
74 4v% 9303V Y
2 8| 359\ K& #i(J2) FRESED 2:26.03 2 2| 468 #0H mzE U2 FEH 2:30. 81
Tz 494 Wy F39/xh
3 4 530/ HE —&J3) |ZHAITEHHIH 2:28. 11 3 3 MTEAKR BE U2 FRERLS 2:31.29
Thy AR HE U
4 6] 469|7)Il RIEW2) |[FEH 2:42.56 4 8 31/ EANWU2) | FREES 2:32.16
IYh9 Yanak 147 buh
5 3| BBIKE BHIUD FTREH®H 2:53.24 5 71 ST KAW EEREWD |EEA-{VY 2:34.36
423 b TH97)29%
6 71 593|Em EEUD |[FTRES&E® 2:56.79 6 5 119/FEA &3} J2) | FREES 2:40.57
Wy YR YhE bk
7 2 4611=% BT 1) |Fme 3:07. 06 6| 418|FHHE A& 3 |[AFE)H
NIVELVS TV4y9¥ DNS
[ 348] [ 4481
JE] V-v] No. K 4 mE4A M/ HE | [IE VY] No. K 4 B4 R tRE
1 6| 4841/NFk BEARK(J3) |dLIEEKeh 2:13.46 1 6| 259|lUN —EE(C3) |ALIR=REK 2:01.35
Ny Yans TI9F 3 Y
2 1 1718 f = J3) [[IhlEFiR G 2:14.39 2 5 2|F% #Re FLIRFE 2:09. 65
Th=y Ya9xh ) 74/
3 3| 492[%n ERWU2) |[EFKIT 2:17.12 3 3 100(mnFk Z=3}(J3) |[FmEET 2:14.90
Y7 Y Y3k
4 5| bGL3EEHA B (U3)EiakEd 2:18. 41 4 2| 53831 EBEXW3) |[BI#ERH 2:17.62
Y h4b Ay b
5 8| 3M2|kAK BKXWU3) |FHRESES 2:19.73 5 11 5148R # HEREIVE 2:17.74
A Eh 144 Y34y YAy
6 2| 1432 EBEE} W) FE=EREH 2:21.08 4] 113k =X |[FERE=EEF
9548 b 3447 295 DNS
4] 347|EHE BN |FmEES 8| 103|@HE =KW |[Fm=hEF
R vl ahny Yasg DNS
[ 5%A]
JE] v-v] No. E 4 mEA i EE
1 4] 626 1L AR (C3) |FLRZFEFEXR 1:57.09
pEAKER]
2 T 261[F&4 {E4#(C2) [#LIRZFEIRK 1:57.79
17% #4b
3 3| 270|KE Bk# (C1) [4LMRZERRX 1:58.18
v 2
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